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Chapter 4B Test Review

receive full credit.

T. Which statement is not always true?
a. mMLROT>msLR v
(\‘-" b. mZROT> msLP v/
c. MZLROQT=msP+msR v
dy mZROT > m£LPOR

2. In the diagram below, A ABC = AXYZ.

B X

A Z

Which two statements identify corresponding
congruent parts for these triangles?

/@;X__"j-’andé(‘,*zﬁ}’
AT AB=YZand £LC= £X
/.@E;ﬁ’ﬂdd;é!’
BC = YZand Z4 = £X
3. Inthe diagram below of A AGE and A OLD,
ZGAE = ZLOD, and AE = OD.

G L

A E o ' D

To prove that & AGE and A OLD are congruent by

SAS, what other information is needed?

a. Gj‘s.@
AG= 0L
" ZAGE = LOLD

d. ZAEG = £Z0DL

1. Side @ of &4 POR is extended through Q to point

) Multiple Choice - Identify the choice that best completes the statement or answers the question. Show ALL work to

4. In the diagram of A4BC and & EDC below, AE
and BD intersect at C, and ZCAB = ZCED.

Which method can be used to show that /A ABC
must be similar to /A EDC?

a. SAS
AA

. S§§
d. HL

5. In the diagram below, /A ABC is shown with AC
extended through point D.

If m£BCD = 6x+2, msBAC = 3x + 15, and
mALABC = 2x — 1, what is the value of x?

12
W10 2=l BHIS XL

c 1.51 6\?( U=yt
d. 186 11‘-"X
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6. In AABC, » point D is on AB, and point E is on BC

9. In the diagram of A ABC and & DEF below,

such that DE || AC. IfDB=2,D4 =17, and 3. 2

ABz=DE, /A= £D,and Z/B= ZE.

DE =3, whtisthelengt of AC? s . i A F
5 am R
c. 105 0 B . o D
13.5 rlhs i
1. IfAABC ~ AZXY, msA = 30, and m£C = 30, C \
what is mZX? B
a. 30 \GU-50U-30d = LX E
b. 350
c. 80 Which method can be used to prove
100 LNABC = ADEF?
8. Based on the diagram below, which statement is g, =9
true? S8
ASA
d. HL

QPF"P
9
1]

10. In the diagram below, the vertices of A DEF are

11.

the midpoints of the sides of equilateral triangle
ABC, and the perimeter of AABC is 36 em.

0.0 A
LA
?Sxég“' 7 -
A F i

What is the length, in centimeters, of EF?

6
b. 12
cx 18
d. 4

In isosceles triangle ABC, AB = BC. Which
statement will always be true?
a. mZB=msA4
b. mZ4>msB
@ mZ4 =mzC
d msC<msB

6

~----"""'C”
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12. In the diagram below of L ACT, D is the midpoint 13. In the diagram below of £\ PRT, 0 is a point on
GflAC, O is the midpoint of AT, and G is the PR, Sis a point on TR, OS is drawn, and
midpoint of CT. ZRPT = ZRS(0.
P
\U Q

If AC = 10, AT = 18, and CT = 22, what is the _
perimeter of parallelogram CDOG? Which reason justifies the conclusion that
a. 21 A PRT~ ASRG?

b. 25 ? AA
@ 32 b.  ASA
. 40 c. SAS
d. 558
L’)ﬂ"‘ ¥ Chis 14, A transversal intersects two lines. Which condition
would always make the two lines parallel?
a. Vertical angles are congruent.
Alternate interior angles are congruent.

¢. Corresponding angles are supplementary.
d. Same-side interior angles are complementary.

Short Answer - Show ALL work to receive full credit.

15. Inthe diagram below, A ABC ~ A EFG, . 16. In the diagram, 75 is the e iR
msC = 4x + 30, and m£G = 5x + 10. Determine bi fFH . FindJG
the value of x. » 1sector o . Fin . 5

X =¢
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7 3 :ind the value of x in the diagrams below. 20. In the diagram below of A HOP, side HP is

extended through P to T, m£OPT = 6x + 20,
MZLHQOP = x + 40, and m£ZPHQ = 4x - 5. Find

+S=ly (p mZQPT.
//({\ H i, iﬁ*‘(wﬂ-\l\kui}-”fux’s
5)° d)}:i.lﬂ) X + 40)°

4x-6)° AR

3x+5) [
T
\6 ?7\\ (Not drawn to scale)
-2?;‘_ 21. In the diagram below of A 4BC, DE is a
midsegment of AABC, DE =7, AB = 10, and
15 BC=13. Find the perimeter of A ABC.

18. In the diagram of A ABC below, AB = AC. The
measure of /B 15 40°,

7

hj
What is the measure of 47 \UU

19. In ARST, mZRST =46 and RS = ST. Find
mZSTR.

o

>
A=
o
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22. Q_ifen: _Q_uadri lateral ABCD with AB = EI_),
AD = BC, and diagonal BD is drawn
Prove: ZBDC = /ABD

ID: A

Léiqa ]

.
;‘_'{T{ﬁ:ﬂ’?ﬁ

5. DAEd=E

rb C

s(\J————‘i-t*—”_D

23. In the diagram of A ABC below, AB =10, BC = 14,
and AC = 16. Find the perimeter of the triangle

formed by connecting the midpoints of the sides of
HNABC.

16

\ ofutavect

D OB
Y. LPNCE LATD

|, ke

2 Laflexive

prapery

3584
Y. CPCTC
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Each figure shows a triangle with one of its angle bisectors.
24) Find xif mz2=3x-5 and 25) msz1l =4x+6and me2 =3x+ 13.

mZVTU = 4x + 6. _ P Find x.
Y H0) Uy Yy to=TxHf3

u RUSIY, ;
A” 7 PAY *t“( / f =]
= v @ 9, § ! SZ-‘f‘“lﬁ]

Find the measure of each angle indicated.

55°
,:X [N 1 155°

27)

Find the measure of the angle indicated.

28) Find mz V. \06:‘ (U)H’r?\}"b 29) Find mzDST.
U l@(‘? ’L’]X T
4=y

_:_!h'+2 o
< U

v 105° i 3 S('t‘l’ - (ﬁx"“g:{lgo

] . Z-X? Z{)
\\!" U6 X:[O o
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